MATE 3032assignmentsb

Problems31,32.

Choosetwo of exercisest—22p.491,involving two different typesof trigonometricsubstitution
(someof theseproblemsdo not requiretrigonometricsubstitution) Thisis arepeatof the previous
assignmengsmostresponderdid notfollow theinstructionsYou mustfollow totheletterthesteps
shownin CC10,evenindicating“step1”, step2, etc...Your solutionwill includethe appropriate
figure,alongwith thetwo lineslabelled(1), includingtheword “Then”, followed laterby equating
a squareroot to an absolutevalue (line labelled(2) ), followed later by the word “since”, andthis
in a clearlylegible sequenceddenticalin layoutto the oneshown.The integralsymbol [ doesnot
reappeauntil step3. Thepurposeas notsomuchto obtaintheright value butto copythegivenstyle.
Formoversubstanceror correctnotation,don’t forgetto consultagainCC8.

The outcome:one perfect solution: one bonuspoint (out of 100 for the course).Two perfect
solutionsiwo bonuspoints.Neither:onepoint penalty.



